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SECTION-A
Answer any TEN of the following: (1x10=10)

I(a) AN ITETOR, 3330, WO3VD5A.
Define Macro Economics.

(b) Do, COD e3TIDO OTITCIN?

What is meant by National Income ?

© ABBELAT TR IGERAFH, BIOR.

Name any two types of Unemployment.

(d) AOREBIT BEITORD DOTWTE?
What is Public Finance?

() WB3IST DOTITC3D?
What is Poverty?

() WON3CTTED DOTWTLID?
What is Globalisation?

(g) PDSS), JRDA.
Expand PDS

(h)  20950T° B3 DOWTLI?
What is Bank Rate?

(i)  QATIF ONTROIOD ATW,03e33), 030030 )35 ATTITI?
Who advocated the theory of Absolute advantage?



() BT 50003 OTBCID?
What is Free Trade?
k)  RIOT DOTWB?
What is Tariff?
(D WB3S DeNREDITI O30 TR BT FOODE FeINP ), BROA.
Name any two Poverty alleviation programme.
(m)  GSTSY, DRDA.
Expand GST?
SECTION-B
Answer any SIX of the following: (5x6=30)
2) TR,y O3 3T00DNETY, LIP3 e0083083 LdPOSNF I, edeSDA.
Explain the methods of measurement of National Income.
3) €3030F a3, 90ZTOA,,,LON W955000T STV a35TsANFP ),
W3R,
Discuss the difference between internal and international trade.
4) 30T 20,5908 BOICETNER, IO,
Explain the merits of free trade.
5) AOT BT DOBNY ), WFBEA.
Discuss the Argument far Tariff
6) QBB RLNT, TOTLNF I, )3V,
Explain the causes of Unemployment.
7) B3, VEELITI 53500, )eTDA.
Explain the process of Credit Creation.
8) AOTE BT ATTNE) DOTTRN? 9ITT OFENF I, Jz3DA.
What is Public Goods? Explain its features.
9)  INICBTLT TOSLEB[NFR), )30,

Explain the advantages of Globalisation.



SECTION-C

Answer any TWO of the following:

10)  ToA,,L0 e3TIONT 2IRBSEE) B3 BRTWIINF T, )e3DA.

Explain the difficulties in the measurement of National Income.

11) 20503 23T DOWTR? 2053003 2FHT BOINP I, )eTDA.

What is Business Cycle? Explain phases of the Business Cycle.

12) @038 3D, 9RNI3RCOTT, TOTLNF), e)e3DA.

Explain the reasons for disequilibrium in Balance of payment.
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(10x2=20)



